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B85 {/% IR 41 45 86 18.0 68.0 26 | =15 =H| 39 | 38 77 1 3.6 |73.4

2 =4F ;&5—EB 37 | 38 75 6.0 | 69.0 27 h0Ek 2 43| 46 89 (15.6 | 73.4

3 faKE— 35 39 74 4.8 69.2 28 | hlith BE— 46 42 88 [14.4|73.6

4 {FEE <T 44 44 88 16.8 | 71.2 29 Tl fE— 40 | 48 88 14.4 | 73.6

5 BK ERX 48 45 93 21.6 | 71.4 30 XE R— 41 47 88 |14.4 | 73.6

6 TR 39 42 81 9.6 71.4 31 kO &— 48 52 100 [26.4 | 73.6

7 A B 40 | 40 80 | 8.4 |71.6 32 HEKN th— 47 | 47 94 [20.4 | 73.6

8 HE &A 42 43 85 13.2 | 71.8 33 ff L &E— 46 | 48 94 20.4 | 73.6

9 FEY RF 48 | 55 103/31.2 | 71.8 34 |BMR &= 49 | 45 94 [20.4 | 73.6

10 JBH [E— 46 | 44 90 |18.0 | 72.0 35 ik - 46 | 47 93 |19.2 | 73.8

11 % 7 42 42 84 |12.0 72.0 36 JE3E IE= 43 44 87 [13.2 | 73.8

12 K& 44 | 46 90 18.0 | 72.0 37 BB piEZ 49 | 50 99 [25.2 | 73.8

13 A R 45 50 95 [22.8|72.2 38 B B 50 | 49 99 25.2 | 73.8

14 F¥¥ 1F 41 47 88 |15.6 | 72.4 39 BA K— 46 46 92 |18.0 | 74.0

15 Bl 5= 42 46 88 (15.6 | 72.4 40 TRE SB1T 41 | 45 86 12.0 | 74.0

16 XKE K 44 | 43 87 14.4 | 72.6 41 5+ BSE 41 | 45 86 12.0 | 74.0

17 CEX B 47 | 40 87 14.4|72.6 42 FRE B8 47 51 98 [24.0 | 74.0

18 FH =X 41 45 86 (13.2 | 72.8 43 SA&E #— 44 42 86 [12.0 | 74.0

19 iR &L 48 | 43 91 [18.0|73.0 44 KH ¥ 41 | 45 86 12.0 | 74.0

20 8K 2 45 52 97 [24.0 | 73.0 45 FE % 46 | 46 92 18.0 | 74.0

21 1L B 41 43 84 10.8|73.2 46 Eif X/ 41 | 39 80 | 6.0 | 74.0

22 Tk BR 41 | 43 84 10.8 | 73.2 47 &K 1EE 51 47 98 24.0 | 74.0

23 #E EFR 44 | 46 90 16.8|73.2 48 NNk BEE 47 50 97 22.874.2

24 |[f] 6= 48 | 48 96 22.8|73.2 49 #glE FASE 43| 48 91 [16.8 |74.2

25 HEH =X 41 | 43 84 10.8 | 73.2 50 [LI4E ZBA 35| 38 73 |+1.2  74.2
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51 Alll fin 42 | 43 85 /10.8 | 74.2 76 /\EY &5 48 | 50 98 |22.8|75.2

52 KpgE ZE9T 46 | 39 85 10.8 | 74.2 77 ZEE B 38 42 80 | 4.8 |75.2

53 XEy BRAE 53| 50 103/28.8 | 74.2 78 2K H— 54 49 103|27.6 | 75.4

54 HA)l| 45 49 53 102 [27.6 | 74.4 79 Bk 8z 47 | 50 97 [21.6 | 75.4

55 & &5 46 | 44 90 |15.6 | 74.4 80 |fE:k T4 53 50 103 (27.6 | 75.4

56 LA 8k 47 | 55 102 27.6 | 74.4 81 HWEY &% 44 | 41 85 | 9.6 | 75.4

57 #H & 44 | 46 90 15.6 | 74.4 82 =tE 19 45 46 91 |15.6 | 75.4

58 f&IR IE— 46 43 89 14.4  74.6 83 [LH 1%E 50 | 46 96 [20.4 | 75.6

59 M B 40 | 43 83 /8.4 | 74.6 84 |{FiE A3 49 53 102 [26.4  75.6

60 =i7 EKEB 37 | 40 77 1 2.4 |74.6 85 AfRH = 41 43 84 8.4 | 75.6

61 LA #fib— 42 | 47 89 14.4 | 74.6 86 thH =& 52| 50 102 [26.4  75.6

62 KX FE 45 | 44 89 14.4 | 74.6 87 ik HME 44 | 46 90 (14.4 | 75.6

63 Tk BE 46 | 43 89 14.4|74.6 88 i&[E FEAl 51 45 96 [20.4 | 75.6

64 FH Fefc 51 | 44 95 20.4 | 74.6 89 ik ¥ 50 51 101 25.2 | 75.8

65 | HEF J5[L 50 45 95 20.4 | 74.6 90 % 7= 48 53 101 (25.2  75.8

66 HSH % 46 | 48 94 19.2 | 74.8 91 /% BY=] 41 36 77 1.2 |75.8

67 7a[E X054 49 51 100 25.2 | 74.8 92 | =Bt FBiH 49 46 95 19.2 | 75.8

68 1Fik Bz 42 | 46 88 13.2 | 74.8 93 gill| IEE 53| 48 101|25.2 | 75.8

69 EE &KX 46 | 42 88 |13.2 | 74.8 94 * EHE 51 56 107 |31.2 | 75.8

70 =7 AL 51 48 99 24.0 | 75.0 95 gEMH I 43 | 46 89 |13.2 | 75.8

71 HIR 517 38 43 81 6.0 75.0 96 H &5 47 | 47 94 [18.0 | 76.0

72 KB 2 44 | 43 87 12.0 | 75.0 97 151% JIg 44 50 94 [18.0 | 76.0

73 SH B 44 | 42 86 10.8 | 75.2 98 FH &= 52| 42 94 18.0 | 76.0

74 158 FFe 55 55 110 34.8 | 75.2 99 ¥ F# 45 | 43 88 |12.0 | 76.0

75 Ll = 48 | 50 98 22.8  75.2 100 /)\FKk B 54 | 52 106 30.0 | 76.0
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101 ZE }E 45| 37 82 6.0 76.0 126 {E 4K #@ZE 51 51 102 25.2  76.8

102 | [E)E[ AR 39 49 88 12.0 | 76.0 127 ZIF 85 50 | 46 96 [19.2 | 76.8

103 T &NE 40 47 87 110.8|76.2 128 B[ & 50 | 46 96 [19.2 | 76.8

104 = —3% 46 | 47 93 16.8 | 76.2 129 B Z=#H 46 | 44 90 |13.2 | 76.8

105 4 £~ 50 | 43 93 |16.8 | 76.2 130 AfE FE2 55 53 108 |31.2 | 76.8

106 1l ST A 38 43 81 4.8 76.2 131 [& 1IF 43 | 40 83 /6.0 | 77.0

107 +H FHEE 45 | 42 87 110.8 | 76.2 132 N NFE 42 47 89 [12.0 | 77.0

108 IR FFE 51 | 47 98 |21.6 | 76.4 133 1Bl% EjA 44 | 45 89 |12.0  77.0

109 £5%x B=E 51| 47 98 [21.6 | 76.4 134 fERE —%H 51|50 101 24.0|77.0

110|[EAR 1 48 50 98 |21.6 | 76.4 135 ik 55 51|50 101 24.0 | 77.0

111 &R 1EA 48 | 44 92 15.6 | 76.4 136 Tl SHE 51 | 43 94 16.8|77.2

112 FIE At 48 | 44 92 |15.6 | 76.4 137 [EHA 8513 41 | 41 82 4.8 77.2

113 B350 fE— 43 | 43 86 | 9.6 | 76.4 138|/\E¥ 1F#5 45 43 88 10.8 | 77.2

114 52 B 45 | 52 97 (20.4 | 76.6 139 SH EE 58 54 112 34.8  77.2

115 &4 =it 47 | 44 91 |14.4 | 76.6 140 ElIF 5§ 43 44 87 9.6 |77.4

116 H¥f AEF 48 49 97 (20.4 | 76.6 141 EB RX 44 | 43 87 9.6 |77.4

117 hNfE #45] 40 | 45 85 | 8.4 | 76.6 142|FEH 1F=1h 48 | 45 93 |15.6 | 77.4

118 518 52 46 | 45 91 |14.4 | 76.6 143/ £ & 48 | 50 98 |20.4 | 77.6

119 5K [ a5l 47 | 44 91 |14.4 |76.6 144 FHE IS 46 | 52 98 [20.4 | 77.6

120 5H & 44 | 47 91 |14.4 | 76.6 145 /|\fK BEXE 50 | 42 92 |14.4 | 77.6

121 X)l|& BB 46 | 50 96 19.2 | 76.8 146 2[R IF— 47 50 97 19.2 |77.8

122 H F =17 48 | 48 96 19.2 | 76.8 147 1% B2 49 48 97 [19.2 | 77.8

123 =% FI3 43 47 90 |13.2 | 76.8 148 | [E)Zf ZE4D 49 | 48 97 |19.2 | 77.8

124 45475 Fsh 54 | 54 108 31.2 | 76.8 149 7% H R4 42 43 85 7.2 77.8

125 S5 42 46 44 90 |13.2 | 76.8 150 2B 38 48 | 43 91 |13.2|77.8
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151 5§18 ML 55 59 114 36.0  78.0 176 SEY &5 49 | 43 92 13.2 | 78.8

152 HEEP B2 48 | 48 96 |18.0 | 78.0 177 1R f2KER 46 46 92 |13.2|78.8

153 F FEA5 55 53 108/30.0 78.0 178 HP = 47 | 51 98 [19.2 | 78.8

154 {2 K =5 47 | 55 102 24.0 78.0 179 Eiff E 46 | 45 91 12.0 | 79.0

155 & 5% 45| 51 96 18.0 | 78.0 180 EHifj B~ 54 | 49 103/24.0  79.0

156 &M 28 47 | 42 89 10.8 | 78.2 181 [¥]H £t 57 | 52 109 [30.0 | 79.0

157 K &2 42 | 47 89 [10.8 | 78.2 182 NI 1&iF 54 | 61 115/36.0  79.0

158 &AM —HE 48 47 95 16.8 | 78.2 183 F)l| IRER 55| 48 103 [24.0  79.0

159 HEY =i 55 46 101 /22.8  78.2 184 fiNtth =EBp 53 50 103/24.0 79.0

160 =K BF 52 | 48 100 |21.6 | 78.4 185 f[Iith B 56 | 41 97 18.0 | 79.0

161 {f XK &2 47 47 94 |15.6 | 78.4 186 =M #H:% 49 | 47 96 |16.8 | 79.2

162 #H = 39| 37 76 +2.4|78.4 187 T B5ah 50 58 108 /28.8 | 79.2

163 A 177/T 48 | 46 94 |15.6 | 78.4 188|)I| |k 52— 42 | 47 89 9.6 79.4

164 KXE¥ 1EER 53 52 105 26.4 | 78.6 189 HKES X% 45 | 50 95 |15.6 | 79.4

165 ThE X 56 | 49 105 |26.4 | 78.6 190 FEH FEsh 44 | 45 89 9.6 79.4

166 ik ES° 48 | 51 99 [20.4 | 78.6 191 S5 (2 46 | 49 95 |15.6 | 79.4

167|)||1F 72 51 54 105(26.4 | 78.6 192 F8 Tt 48 53 101 21.6 | 79.4

168 TF{EE BE 42 | 51 93 [14.4 | 78.6 193 KXBf | 49 51 100 20.4 | 79.6

169 BHES R — 54 | 57 111 32.4 | 78.6 194 1F[@ B 43 | 45 88 8.4 179.6

170 EFR =50 54 | 39 93 |14.4 | 78.6 195 )11 50 53| 46 99 19.2 | 79.8

171 K¥& P 49 55 104 25.2 | 78.8 196 ff 2K SN 50 | 49 99 [19.2 | 79.8

172 5 & 54 | 50 104 25.2 | 78.8 197 1888 k& 56 | 55 111 31.2 | 79.8

173 =F & 45 | 41 86 | 7.2 |78.8 198 JEEB 7t 43 | 49 92 [12.0  80.0

174 S5 B— 44 48 92 |13.2 | 78.8 199 /|| [E& 52 46 98 18.0 | 80.0

175 518 H 48 | 44 92 |13.2|78.8 200 |1I{E BZE 53| 56 109 28.8 | 80.2
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201 H F 1FRS 48 55 103/22.8 80.2 226 B4 BIEF 52 59 111/24.0 | 87.0

202 [EEy Bt 42 | 43 85 4.8 | 80.2 227 /& R 58 | 65 123 /36.0 87.0

203 | A EH 48 | 47 95 14.4 | 80.6 228 AH = 64 59 123/36.0 87.0

204 EiR FE 47 | 59 106 |25.2 | 80.8 229 5K $5—ER 66 | 54 120/32.4 87.6

205 1815 1GF 54 | 52 106 25.2 | 80.8 230 Rk £F 62 | 51 113 /25.2  87.8

206 [FH Z& 51 55 106 25.2 | 80.8 231 Nl 1E5A 59 65 124 [36.0 88.0

207 B8 EH 45 54 99 /18.0 | 81.0 232 SH 182 61 63 124 36.0  88.0

208| [ k% 58 | 53 111/30.0 81.0 233|158 ¥ 63 62 125/36.0  89.0

209 1Pz 1B& 56 | 53 109 27.6 | 81.4 234 #EI5 ¥ 65 | 56 121 31.2 | 89.8

210/\EF S0 56 58 114 |32.4 | 81.6 235 =i [BEX 68 | 61 129/36.0 | 93.0

211 2= 49 | 46 95 13.281.8 236 Rk LOS 65 65 130 36.0 | 94.0

212 Bk EIBF 59 | 53 112 30.0 82.0 237 (R 3EE) 65 69 134 36.0 98.0

213 &R KfF 55 63 118 36.0 | 82.0 238 AfRH BBE 76 58 134 36.0  98.0

214 HK i 46 | 47 93 |10.8  82.2 239 N F[E 70 | 66 136 36.0 100.0

215 {42 K 183] 56 57 113 30.0  83.0 240 ik K& 75 | 61 136 36.0 |100.0

216 1R 1EE) 61 | 58 119 36.0 | 83.0 241 B¥ K HZ 70| 70 140 36.0 |104.0

217 KHK FHHF 52 54 106 |22.8 83.2 242 KBy BEF 81 62 143 36.0 | 107.0

218 T il 57 61 118 34.8  83.2 243 BEK 5= 71|73 144 36.0 |108.0

219 £ =8 58| 50 108 |24.0 | 84.0 244 /\BY B 86 | 64 150 36.0 |114.0

220 {FEE FPig 58 62 120 36.0 | 84.0 245 HMEH AT 88 89 177 136.0 | 141.0

221 3t 121 58 62 120 36.0 | 84.0

222 41| Al 49 57 106 |21.6 | 84.4

223 /\BF &£ 56 53 109 (24.0 85.0

2243tk B1Y 57 | 62 119 33.6 | 85.4

225318  &J7 55 50 105 19.2 | 85.8




